2000

=l o
(@) (@)
AR
¢ 34%x12.3%x 2000 o
10) =
G.L.
S
(@)
e
$9x 200
(@)
N
FEN S

®) C%\ E

yAO0y 70-94

AL6—E—W

/( _'_\\ \‘ |\]_W| \\ ;-:_; ’_ii'\\
E:b:ZZDO:::D -c:::tl ;%
: : i
/25/9 & @ e | | e
e o0 o e @ | o
~
0
e o0 o e o | o
|
® 0 @ o ||® @
1 1 [ I _+
=S[©mme]© mmm) s fomm ©} ¥ —
N\ SZANS =
25 25

®EN S=1/5

REHAZRBEBN S=1/1

& & & % B ) B Bz
1 £ 1z 2 | 7VIzYvLAE t1.2
2 y - 2 | BABRGY - b HEER
S [ATA4FFe M| 4 | 7WIZYLAR ¥u7
4 R R 8 | 57U nBE(7T7UN) AR
5 R & 8 | 57U nBE(7SIN) HAAE
6 t » & 32 | NRBATYLAM
7 Unvy ¢k 2 | SPHC BEEN - &
8 Rl beFy b 4 | (W3/8x32) BEEgn - &
9 Rl beFy b 4 | (M10x40) BrdEin o &
HERRRE OB
N /\G&b )
10 b3 1 1| STK400,®55% - & I,
11 Xv v 7 1 FVIFLVEE
12 WEff £ 8 2set | 7V IzYLA% e
NEES KSAH05036% 1
* REMKE. BHREATYALLY AER
REfTE
Q © ©
M8x 50
i
Il o
C D) ( D C D) ( D
I 1~
A<ﬁ 185
370

(12 WEft £ B3#BY S=1/5

19

19 11




